HitHHHIHH 2d56f9c37869b8f773048d5643 ¢ 1193 e HittHHHIHHHE
priuferio_kodas = [4,1,7,1,3]
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priuferio_kodas := [2,5,1,3,2]
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priuferio_kodas = [2,2,6,4,2]
medzio centras = [4]




gretimumo_matrica =

== T S =R
o O O O o = O
oS = O O O = O
oS = O O O O O

S O O o o = O
S O = = O O O
S O O o o = O

1 00 00O
111100
010000
incidentumo _matrica=| 0 0 1 0 1 0
00 0O0O071
000O0T1
000100

HiHHHHHHHE 9296C6cdf5f4b4f14b04d639f58b27d9 HiHtHHHIHHHHE
priuferio_kodas := [4,4,4,1,7]
medzio centras =[1]



gretimumo_matrica =

S O O = O O O
oS O o = O O O
S O = O = = =
S O O = O O O
- o o o o o o
S = O O O O =

- o O = O O O




(110000
001000
000100
incidentumo _matrica=| 1 0 1 1 1 0
00 0O0T1DO0
00 0O0O0°71
010001

HiHtHHH I 5d5197109ab26869e7426(f85d666b30 #it##HiH#HHHH#
priuferio_kodas == [7,1,7,3,4]
medzio centras =[4, 7]




(000010 1]
000O0O0O0?1
0001010
gretimumo_matrica=| 0 0 1 0 0 0 1
1 00 0O0OO
001 00O0O0
1 101000
1 10000
001000
000110
incidentumo_matrica=| 0 0 0 1 0 1
1 00000
000O0T1O0
011001

HiHtHHH I 4e0bfda8dcdeb2f7318743f25dc3803 1 #t#HHHHHHH
priuferio_kodas := [6,2,2,6,3]
medzio centras =6



gretimumo_matrica =

S ) O O O o O

S = == O O O

- = O O O o O

S O O o o = O

S O O O o = O

S O O O = = =

S O O o = o O




(100000
01 1100
000O0T1
incidentumo _matrica=| 0 1 0 0 0 O
001000
1 00110
000O0O0°1

HiHEHIHHIH I [66de78519f177d3fd8d4el6c53ca7b2 #HiHHHH I
priuferio_kodas == [3,1,1,1,2]
medzio centras =[1]

D
@




(001 101 10|

1 00 0O0O0°1

1 001000
gretimumo_matrica=| 0 0 1 0 0 0 O
1 00 0O0O0O0

1 00 0O0O00O0

0100000

(111100

1 000T1O0

010001

incidentumo_matrica=| 0 0 0 0 0 1
001000

000100

00 0O0T1O0

HiHHHEHIHIH 4a6D8c715411638facbOalbba3dade()] ##HiHHHHHH#
priuferio_kodas := [6,5,1,6,3]
medzio centras =11, 6]



©)
&

gretimumo_matrica =

S = = O O O O

S = O O O O O

- = O O O o O

S O = O O O O

S O O = O O =

S O O O = = =

S O O o = o O




(110000
001000
000110
incidentumo _matrica=| 0 0 0 0 0 1
1 00001
01 1100
00 0O0T1O0

Wit 42 1abc320886¢7734f918450ab11074e #t##HiH#HHH#
priuferio_kodas := [6,4,3,5,6]
medzio centras =1[3,5]

@




(000001 0]
0001000

0001T1O00O0
gretimumo_matrica=| 0 1 1 0 0 0 0
0010010

1 000101

000O0O0OT1O0

(100000

010000

001100

incidentumo_matrica=| 0 1 1 0 0 O
000110

1 00011

000O0O0°1

w97 20b095cc4dd9753790afeacb4b884 HiHtHHHHHHHE
priuferio_kodas := [4,5,2,4,2]
medzio centras =2 ]



gretimumo_matrica =

S O o = O o O

_ o = = O O O

oS O = O O O O

S =, O O O = =

S O O O = = O

oS O o = O O O

S O O o o = O




(100000
01 1100
000O0T1O0
incidentumo_matrica=| 1 1 0 0 0 1
001010
00 0O0O0°71
000100

HiHHHH I 0e53al25fcfeec 78875 73cf89 e ] 4f HitttHHHHIHIH
priuferio_kodas == [2,2,7,5,5]
medzio centras = 7]




gretimumo_matrica =

—_ o o O = O =
S O O o o = O
S O = O O O O
- = o = O O O

oS O = O O o O
S o = O O = O

S O O o o = O

1 00 00O
1 11000
010000
incidentumo_matrica=| 0 0 0 1 0 O
000T1T11
000O0T1O0
001001

HiHtHHHHHHHE 0f5c7860cb Ife5cOfce25634525f4580 H#tHHHHHH1H
priuferio_kodas == [2,3,7,7,2]
medzio centras = 7]



gretimumo_matrica =

—_— = O O O o =
- o o = O o O
oS O o o = O O
- o O o o o o
S O O o o = O
S O = O = = O

S O O o o = O




(100000
1 11000
000110
incidentumo_matrica=| 0 0 0 1 0 O
00 0O0O0°71
010000
001 0T11

HHHHEHIHIHHE [4568224629058e1768d9badde8al42d #H#HH#H#HIHH
priuferio_kodas := [3,6,7,1,3]
medzio centras =11, 3]




(001001 0]

001 00O00O0

1 100001
gretimumo_matrica=| 0 0 0 0 0 1 O
000O0O0TO0O!11

1 001000

001 0T1O00O0

(110000

001000

1 01100

incidentumo_matrica=| 0 0 0 0 1 O
00 0O0O071

010010

000101

HiHEHIHHHHHE fd48c4a80238af024fb245a0af7 1 bfSa #HiH#H#HHH
priuferio_kodas := [3,1,6,3,7]
medzio centras =1[6, 7]



gretimumo_matrica =

S =, O = O O O

S O O O = O O

- o = O O = O

S O O o o o =

S O O o = O O

- o o o o o =

S =, O O = O O




(110000
001000
001110
incidentumo _matrica=| 1 0 0 0 0 O
000100
010001
000O0T 1

HiHtHHH I abe90a0c0155e0d0ae ] a60cbSfa9f8cO) #t#HH#HHHH
priuferio_kodas := [5,6,2,4,2]
medzio centras =[2,4]




(000010 0]
0001T1O0°1
000O0O0OT1OP0
gretimumo_matrica=| 0 1 0 0 0 1 0
1 1.00000O0
0011000
0100000
1 00000
011100
000O0T1O0
incidentumo_matrica=| 0 1 0 0 0 1
1 01 000
000O0T1
000100

HiHHHHIHH I d7ca83199c70a07aa3a9c45407 5fel 63 HitHtHHHHHHHE
priuferio_kodas == [1,2,7,5,3]
medzio centras = 7]
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priuferio_kodas := [7,4,5,1,7]
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@
©
&



gretimumo_matrica =

- o O O O o O
S O o = O o O
S o = O = O O
S O O = O O =
- o O O o o O
S = O O O = =

—_ O =, O O O O

1 10000
001000
000100
incidentumo _matrica=| 0 0 0 1 1 0
1 000T1O0
00 0O0O0°71
01 1001

HHHH R 1)



